B.

3 5

6 Ostwaldcolours

colour space Cyg 5, L%,)
%0 =50 + 40[Y; /log(5)]

.+ 380_567 35.41 62.00
B 380_493 17.93 5.75
M, 567_493 77.55 4365
Jw;380_775 95.04 100.0

380_77500 001
u; 380_775 171 180

=

XYZ,=95.04,100.0, 108.89 —~74 Parameter:

A2:2,562—32‘n)Y
2=250,-b,) Y o1

62 [ (x- X )

lllumin. D65, Y 1000 Yy 01

L*ryy & name
Y,=Y/18,

(0).C,g ;=CONSt

=50 + 40[, /log(

a, iame Range X
005 061 033859 4391289 0.0

676 0.432 0529570 4630.61 -0.0.
671 0.217 0.699535 5350.153 ~0.0
1088371 0.3 489 5960.204 ~0.56
10201842 0.045463 5700711 ~5.681
10201847 0.195535¢535 1.213 ~0.749
1088912 0.329 100% 0.616 ~0.348
001 0311 0327 0%  0.615 -0.348 0.
106 0312 0329 18% 0616 -0348 O

496_775831 94.03 4.2

C, 380 570 31.53 60.01 82
B 380_496 1332 5.97 78
M 570_496 78.21 4596 78,
W, 380_775 96.42 100.0 82
N, 380 77500 001 00
US 380775 1735 180 14

B2~ L2
6 Ostwaldcolours (0),C,,
colour space Cpg . L

lllumin. D50, Y 100 0 Y O 1
2
R, 570,775 6420 3099 005 nma 0381598 4611353 0.

GD 496_570 18.21 54.04 422 0.238 0.706538 53800.181 ~0.0:

L*TUr 74 XYZ,=96.42,100.0, 82.49 —~74 Parameter:
100 A,=256,-3,)Y

B,=256,-b;) Y
a,= [ (X-%;) /]

I LYy, & name

1 =
80 Y! Y/18,

p=Const

rur)

5)1

100

A

7 0.458 0518573 4680671

440,181 0.344491 5980.206 ~0.54
230.136 0.061468 5730.434
28 0.386 0.227538c538 1.217
490345 0.358 100% 0.657
0344 0.357 0%  0.656 ~0.329
840345 0.358 18% 0.657 -0.329 0.

0 555 1000 101092}
180 00 00 0.00.%1:

(AZB A

ame Range X~ Y
R, 573_775 70.10 4114
498775 90,58 95.34
G2 408 573204 5421
380573 30.74 58.86
6" 380 498 1035 4.6
M, 573 498 8053 45.70

<7

Q)

N, 380775 0.01 001
g 380775 18.16 18.0

1, by,
>< —0110 B —1300
Crez
6 Ostwaldcolours (0),C,g
colour space Cpg 5, L¥y,)
L%, =50 + 40l /log(5)]

lllumin. P40, Y, 1000 Y 0 1

CrrIAZB A
6 Ostwaldcolours (0),
colour space Cyg 5, L%

A
005 usa 0369600 4931403 o
4.06 0.476 0501576 4680.73

402 0.259 0.689540 54000216 -0.
64.64 0,199 0.381493 6000234 ~0.5
60.62 0,136 0.061468 5760435 ~6.76:

60.670.43 0.24454005401.309 ~0.688\ 0.689 67.8 -403 78.§ 329 2.54 73.4 74.1 7{|M 579 504 8526 47.04 33.28 0514 0.284547c547 1.425 ~0.70)
W, 380 775 1009000 64.68 0.379 0376 100% 0.717 -0.336

180 00 00 000:13N 380775001 00 00
166 10 495 500 50HJu; 380_775 19.77 17.99 6.4

00 03780375 0%  0.716 ~
11.64 0.379 0376 18% 0717 -0336 ON1 00 0.0

=1, byy=-0,4
x—OllOB =2,500

L%, =50 + 40lY, /log(5)]

5.55 1000 101.092.4|W;380_775 109.899.99 35.58 0.447 0.407 100 0.828 -0.355

(o
m)

fee80-1a fee80-2a
XYZ,=100.93, 100.0 , 64.68 —74 Parameter: L*TUI' 74 XYZ,=109.84, 99.99 , 35.58 —74 Parameter: L*TUV 74
A,=256,-3,)Y I ¥y, &name A,=250,-3,)Y I LYy &name | 100 !
1 = 1 = 1
796, VLVIIB, Y, Y/18,

0445 0.405 0%  0.827 ~0.355
0447 0.407 18%  0.828 -0.355

fee80-3a

fee80-4a

Tee80-7R R




